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Instructions @

i)

ii)

1i1)

This question paper is divided into three

parts, A, Band C.

First question of each part is multiple
choice type. Four alternative answers are
given in each. Select the correct answer and
write down in your answer-book.

Attempt all the questions of each part
together at one place. Each part should be

attempted on a new page.

All questions are compulsory.

v) Marks of the questions are mentioned
against them.

vi) lllustrate your answers with neat and
labelled diagrams and chemijca] equations
wherever necessary.
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iii) 3T g

v) ﬁ'ﬂﬁ TR FRT| 1
The radius of curvature of a spherical
mirror is 30 cm. Its focal length will be
i) 10cm i) 1S5 cm

) 30cm iv) 60 cm. 1
To get wvirtual, erect and magnified

image of an object, the object is placed
in front of convex lens

i) at the principal focus of lens

1) at the distance twice of the focal
length

i) at infinity

iv) between the optical centre of the
lens and its first principal focus. 1

The unit of the electrical energy is

1) volt i) watt

i) kilowatt iv) kilowatt-hour. 1
The elective current ig measured by

1} electric generator

i)  galvanometer

ili) ammeter

V)  electric motor. ]
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An object is placed at a distance of
15 cm in [ront of a concave mirror. If
the focal length of the mirror is

30 cm then find the position of the

image and its nature. 2

What do you mean by dispersion of

white light ? Write down the sequence

of colours that you find in dispersion of

white light. 2
Define clectric potential and electric
potential difference and write down
their units. 2
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What do you mean by hypermetropia ?
How can it be corrected ? Draw

necessary ray diagram also. 4
OR

An object is placed at 25 cm away from

a converging lens of focal length 10 cm.
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Draw the ray diagram and find the
position and nature of the image
formed. 4
b) A wire carrics a current of
0-5 ampere when potential difference of
15 volt is applied across it. If the
length of wire is 3 m and area of cross-
section 6 x 107° mz, then calculate its
resistivity. 4
OR
Three resistances R, R, and R, are
connected in parallel. Find the
expression for their equivalent

resistance. 4
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Explain the principle and working of an

ele-.;:tric motor by drawing a _labelled

diagram. 7
OR

Two bulbs, one rated 100 watt, 220 V and

other 60 watt at 220 V are connected in

“parallel to an electric supply of 220 V. What

current is drawn from mains supply ? Find
the resistance of each bulb, their equivalent

resistance and current taken by them

scparately. 7
qUE -
o PART - B
5. F) T WA H TN §
) 2 i) 3
ili) 4 iv) 5
@) Hoern Wk % 9 ¥
1} Ca[P03]2 11] CaP04
iii) Ca,(PO,), ‘iv) CaP,0,
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BaClL, (s +H,80, (v¢ig ——>
BaSO, (@®) +2HCI (v

&
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i)  Frrestor sfufsan

i) eI SfMTRET

iv) & ] &8 W 1
Valency of carbon atom is

2 ii) 3

iii) 4 iv) 5 1
The formula of calcium phosphate 1s

i)  Ca(POg), i) CaPO,

iiij Ca,(PO,), iv) CaP0, 1

Chemical equation
BaCl, (Ag)+H,S0, (Ag)——

BaSO, (s)+2HCl(Aq)

i)  Addition reaction

iijj  Elimination reaction

iii) Precipitation reaction

iv)] None of these. 1
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cu*™ (sea) +Zn (@R) ——>
Cu (B®) +Zn** (i)
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Write oxidising and reducing agent in

the following cher_nical equation giving

.reason ° 2

Cu*(ag)+2n (s) > Cu(s) +Zn™*(aq

Write down the appllcatlons of caustic

soda and Plaster of Paris. 2

State  any  two applications  of

Mendeleev's periodi-: table 2
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a) Write down IUPAC names of the
following organic compounds : 1+1
i) H—@-O"H
fHa T
ii) CH;—(':-CHQ‘CH-‘CHG
CH,

b) Write any two applications of electro-

chemical series. 2
frfefaa weiET ® gu Fifg
ij CH,COOH +NaOH —»A 1
i) C,H;OH+Na—B 1
i) CH4COOH + C,H,OH ——==ts C 1
iv) C,HOH—""24 ,p 2
y) CHOH—ZE 2
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iii) g Hwfear 2
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8. Complete the following equations :
CH,COOH +NaOH —» A

i)

i)
1i1)
1v)

v)

CZHSDH + Na—>B

CH,COOH + C,HsOH 222
KMn()
C,H,OH 4 ,p
QHsOH%E
OR

Write short notes on the following :

i)
ii)
iii)
iv)

9. &) FARINGC HAWNEA BT ¥

Substitution reaction
Homologous series
Combustion reaction

Esterification.
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9. a) Chiorophyll absorbs
i) Water
i) Mineral nutrients

iii) Light energy

iv) Oxygen. 1

b) " The name of scientist who propounded

the principle of organic evolution is

i) Charles Darwin

ijj Gregor Mendel
iiiy Jagadish Chandra Bose
iv) Hargovind Khurana
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¢) Human embryo gefs nutrition through
) Ovary iij Placenta

| i) Kidney - 1) Fallopian tube |
d) Which of the following is no

heterotroph ?
1) Fungi ii) Tapeworm
i) Yeast iv) Money-plant, 1
10. %) SEMEM 1§ 2 T¢ Fel T& a1 & 2
| . 1+1
Q) IR (F) W 3R 39 et
1+1

i | | e

10.. a i ;
) What is diaphragm ? Where is it

f found ? 1+1
b}  Descr;
¢Scribe regeneration with examples.
| 1+1
c) What ; .
) ) at is heterutrophic nutrition ? Give
11s one example. 1+
33174 L T %] |
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Draw a labelled diagram of male

reproductive system of human. 4
OR

Draw a labelled diagram of longitudinal

section of pistil of an angiosperm. 2 + 2
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p) Write short notes on any {wo: 2+ 2
i) Nephron
iy Solar energy
i) Natural resources.
OR
2+2

Write short notes on any two :
i) Aerobic respiration

ii) Blood circulation in human heart

iiijj Forest management.
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12. Describe the male reproductive organs of an

angiospermic plant.
CR

7

Explain in Jdetail the scx determination in

hl,__]‘f‘.ll’l.
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